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First Semester (3 Year) LL.B. Examination, March/April 2021
CONTRACT -1

Duration : 3 Hours Max. Marks :

Instructions : 1. Answer any five questions from group (a) each
question carries 10 marks.

2. Answer any five questions from group (b) each question
carries 6 marks.

3. Answers should be written either in English or Kannada
completely.

Q. No. 1. (a) Define ‘proposal’. Explain the circumstances under which
it lapses.
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QDRORD.

‘A’ proposed to sell a radio to ‘B’ by letter received by ‘B’ on
1st March 2021. ‘B’ posted his acceptance letter on

2nd March 2021 which reached ‘A’ on 3 March 2021.
Meanwhile ‘B’ revoked his acceptance by a letter posted on
34 March 2021 which reached ‘A’ on 4" March 2021. Is
‘B’ bound to buy the radio ? Marks : 6
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Q. No. 2. (a) State the exceptions to the rule that ‘An agreement without
consideration is void'. Marks : 10
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Ganesh agreed to sell his T.V. worth rupees twenty

thousand to Mahesh for two thousand rupees. Later,

Ganesh refuses to sell T.V. to Mahesh on the ground that

price is too small. Can he do so ? Marks : 6
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What is contingent contract ? Explain the rules relating to
the performance of contingent contract.
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Reshma agreed to work as house servant and to have
immoral relation with Rajesh, for which Rajesh agreed to
pay Rs. 10,000/- per month. Reshma kept up her promises,
but Rajesh refused to pay. Reshma institutes a suit against
Rajesh to recover the promised amount. Decide. Marks :
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Define ‘Consent’. When does it become free ? Marks : 10
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Mohan aged 16 years, agreed to sell his scooter to Gopal

for Rs. 5,000/-, but later refused to perform his promise.

Gopal institutes a suit against Mohan. Will he succeed ? Marks : 6
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Q. No. 5. (a)

Q. No. 5. (b)
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Explain the doctrine of frustration with decided cases.
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Ramesh promised to marry Radhika after the death of his
father. However, during the life time of his father, Ramesh
married Revati, another woman. Radhika institutes a suit
against Ramesh for breach of contract Deoide
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Explain the law relating to the time and place of performance
of a contract.
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Write a short note on discharge of contract by agreement.
2TORT TPWE BUIOR DREFICH BV 2ot VPO 83363
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Explain the law relating to liquidated damages under the
Indian Contract Act.
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‘A’, a trader, leaves his bag containing fruits in the house
of ‘B’ by mistake. ‘B’ eats those fruits. ‘A’ claims price of
the fruits from ‘B’ Decide.
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Explain the remedies available for breach of contract.
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Ashok, due to mistake of law, pays income tax, which he
is not bound to pay. Can he recover the same ?
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Q. No. 9. (a) Whatis Injunction ? Under what circumstances, court can
grant perpetual injunction ? Marks : 10
&)wrod@zs;q, QOTBE 97 o3 :iodz;’rﬁ#e‘;q 9, 0RO
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Q. No. 9. (b) Avinash is the owner of a building. Satish expels Avinash
from that building by force. Advice Avinash. Marks : 6
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Q. No.10. (a) By whom and against whom a specific performance of
contract can be claimed ? Marks : 10
3000 @CDFE&"’J Sjein{del joverrolievtrion) ) 3RT BT
BB 9 = %

Q. No.10. (b) Write a short note on Rectification of Instruments. Marks : 6
ODITI STVTROD BOD 2.0 OFO 339 LB0WO.




(O 0

| Semester 3 Year LL.B. Examination, December 2019
CONTRACT -1
(2018 and 2019 Batch)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer all five Units.

2. One essay type question and one problem or one short
note are compulsory from each Unit.

. Figures to the right indicate marks.

. Answers should be written either in English or Kannada
completely.
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UNIT - |

Q. No. 1. a) Define acceptance and what is the effect of acceptance ? Marks : 10
eof\s@ddc‘% T/ Y 0oNTITE T[OFBITOTE ?

OR/eg

Define consideration and what are the essentials of a valid
consideration ?
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“A” has selected one book which is displayed in a departmental

store for the purpose of purchase. But manager of the departmental

store refused to sell the book. “A” has filed a suit against the

manager for the breach of contract . Decide. Marks : 6
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“A” has invited “B” for a dinner and “B” has accepted the invitation.
Subsequently “B” could not attend the dinner. “A” has filed a suit
against “B” to recover the dinner expenses. Can “A” recover the
dinner expenses ?
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UNIT = I

Explain the provisions relating to capacity to contract. Marks : 10
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Explain the effect of mistake on the legality of contract.
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“A” and “B” entered an agreement before the marriage. In the
agreement they agreed to live separately after the marriage.
Is it a valid agreement ?
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“A” and “B" have entered an agreement. According to the
agreement “A” must pay 5,000 Rs. to “B” and “B"” must settle
the marriage between “A” and “C” a lady. Whether agreement
is enforceable ?
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UNIT - III

“An agreement in restraint of trade is void ". Discuss. Marks : 10
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Explain the provisions relating to appropriation of payment.
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“A” agrees to pay 5,000 Rs. to “B” if B's house is destroyed. “B”
has no house. Is it a valid contract ? Marks : 6
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“A” a famous singer agreed to sing in a programme arranged
by “B”. But before the programme “A” died. Can “B” compel “C”
the son of “A” to sing in the programme ?
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Who is a “finder of the goods” and what are the duties of a
finder of the goods ?
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Explain “Ordinary damages” and “Special damages” with help

of decided cases.
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b) “A” has supplied one mobile to “B” who is a minor. Can “A” recover
the price of the mobile from “B” 2 Marks : 6
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“A”" a famous dancer has agreed to dance in a festival conducted
by “B”. But due to illhealth “A” could not dance. “B” filed a suit
against “A” for breach of contract. Decide.
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UNIT -V

Explain the contracts which can be specifically enforced. Marks : 10
QOFTHEON WORRIYRWTITHT BORTONYR), WF[ORO.
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Explain preventive relief and how the preventive relief will
be granted ?
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Write a short note on :
OPO DL WSOWO :
Recovery of movable property.
U0 TRIT BRRRS.

OR/ &g
Cancellation of an instrument.
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First Semester 3 Year LL.B. Examination, June/July 2019
CONTRACT -1 (2018 Batch)

Duration : 3 Hours Max. Marks :

Instructions : 1. Answer all five Units.
2. One essay type question and short note/problem
is compulsory from each Unit.
3. Figures to the right indicate marks.
4. Answer should be written either in English or Kannada
completely.

Q. No. 1. (a) “All contracts are agreements, but all agreements are not
necessarily contracts”. Explain.

‘DR, FOITINY) wTOBNY), SWO T W OB
BOO0NLICTOTIERR). ", DTOXD.

OR/egs0

“An agreement without consideration is void”. Explain with
exceptions, if any.

T IPONOT WBOTY BRTFTNIBE”. ABI), BTETRYTT
LOR)NSRODN DWOXD.

‘A’ made a proposal to ‘B’ in June 2017. ‘B’ accepted it in

August 2018. Is it valid acceptance ? Marks : 6
‘e’ D womd aj@aﬁsﬁcda:%‘u’ﬁ %R* 2017 88, SROSS.
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OR/esgs
‘A’ goes to a departmental store and picks an article with
price tag. When he goes to the counter to pay the price, the
shopkeeper refuses to sell the article. ‘A’ wants to sue
shopkeeper for breach of contract. Advise ‘A’. Marks : 6
‘®' B 2,00 B0k SURR BreN WS INDTRAT WoFeSJY
VT BOIVEAWT]T. VT & TN ISy, Fowaod
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Q. No. 2. (a)Discuss the legal effects of minor's agreement. Marks : 10
BT,T F,I0D LTOCT TTRTZT TOHOBWINTIY
33FA0.
OR/&gs»

“An agreement in restraint of trade is void”. Explain with

exceptions, if any. Marks : 10
jdg [CIatap mimdws:q AWFODRT 20T ua:od@
3@55:@?\6:3;55”. *azjéd OTTTNOT T RNTROON

WWORD.

‘A’ contracts with ‘B’ to kill ‘C’ for a sum of rupees one lakh.

‘B’ kills ‘C'. ‘A’ refuses to pay. Can ‘B’ recover the amount ?

Decide. Marks : 6
‘T I, 88 T|VRITT WO 'oi BRTIOW BRTWIR)TN
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Anand is a spiritual advisor. Bhaskar, an old Hindu man, is
a disciple of Anand. Anand advises Bhaskar to gift away the
whole of his property to him with a view to secure benefits
to his soul in the next world. Bhaskar makes gift of whole
of his property to Anand. Later Bhaskar wants to cancel
this gift. Can he do so ? Advise Bhaskar.

SIOTI &5, 38 rbdamﬁw%ﬁ. z,:m;d R0 HOTR q)cgpm
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Q. No. 3. (a) Explain in brief the various modes of discharge of
contracts. Marks : 10
BOOTONE DXRFS (WBONB) oD DG DOINGS), FodTazon
QWORD.

OR/eg=»

Explain the law relating to time and place of performance
of contract. Marks : 10

FO0OS JFTWedFoDd R:ood WoB) 75% ROWORRT TOTATS),
WNTWORD.

Rama promised to marry Seeta after the death of his father.

But he married Suma when his father was alive. Seeta

wants to sue Rama for breach of contract. Advise Seeta. = Marks : 6
TOROR 33“ 30830 VFIT Jo3T REBOVI) oI wN

BTN VBT BRI, ST0 BB 33, 3083 WrHdtowmonde

ROBRYI), ROTBRTHTVS. FTOT LVQOTIMON AT
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Umesh has agreed to sell his house to Ganesh for rupees
10 lakhs. But that house was destroyed by an accidental fire
before Umesh could sell it to Ganesh. Ganesh institutes
a suit against Umesh for breach of contract. Decide.
poveleorael 33, doa?cdoab neSesdn R os’ toTpbsplevbat
WROE wdw uw&a#oabaf “38 esesRd ¢ BB,
NSBeBAIN W00k m:fow RBRTSe &53955 e (ovbleln] eﬁ
FOJ0d0 ToTTOOWB). FTKOT LVQOTFRMON REeBd evaboess
a:)cﬁoc;D maﬁo&:;ﬁg{ BRBZDE. JdFOV/D.

Q. No. 4. (a) What are the remedies available for a breach of contract ?
Explain. Marks : 10

BOOOT VQOPIMON BRTBIT HOTTNTIR®) ? BORD.
OR/egss
Explain general and special damages with the help of
decided cases. Marks : 10

REFFOVIOL TICENY IZIODOOT ToWRT, W DIeR
TOBITFINGRY, DSORD.
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(b) ‘A’ leaves an article at ‘B’s house by mistake. Can ‘A’
recover the article from ‘B’ ? Decide. Marks : 6
O wor [ROJI, ‘'S DoIoDE, T z:;es%‘uocsm.
O'R WRB B SWNBI), TERERYWBOTE ? VEFFCWAD.
OR/esg=

‘A’ contracts to supply goods on a specified day to ‘B’.

A does not supply on that day, as a consequence of it ‘B’

has to close the factory. Advise remedies available to ‘B'. Marks : 6
WOTD AOFH, OIToRD TOFI TPFROPN ‘B W'

30, FoTH FRAETN. SB0 & OIBOD ‘&’ D AT
TPYRROY, . AWO0T ‘W'D ToToF SO, WoowdpierordB.

‘WAR BRUBE BOTONY 0B FOTBODITY, JeRO.

Q. No. 5. (a) What is meant by specific performance ? Who can claim it ?
Marks : 10

Dara:& N[0T 0TTED ? @da% OSRTY FEFLBROT ?

OR/esg=»
Explain perpetual and temporary injunctions. Marks : 10

I B 333%@5 Dwroz:aaqimmai QROXD.

Rama is the owner of a building. Shama diposesses Rama

from this building by force. Advise Rama. Marks : 6
Tosd B3I BRPOTT aba@ﬁmhcx&ﬁ. 81 BWBOOW T,TOW

DoROTR),  WOB,3RNN0E BRCHITS. TomIR  FOT

NeaR0.
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B, being a medical advisor, threatens to publish patient C’s

written communications that are with him showing that C

has led an immoral life. What course of action would you

advise to C ? Explain. Marks : 6
‘W QoW a’g}csééeod) ROBMOOI 33, geeAcdnRT ‘F'

88 &TTOBY, FRPBFNERORTVE TT, [,BHIONT)
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First Semester 3 Year LL.B. Examination, December 2018
CONTRACT -1
(2018 Batch)

Duration : 3 Hours Max. Marks :

Instructions : 1) Answer all five units.
2) One essay type question and short note/problem is
compulsory from each Unit.
3) Figures to the right indicate marks.

4) Answer should be written either in English or Kannada
completely.

UNIT = |

Q. No. 1. a) Define Proposal. Explain the circumstances under
which it lapses. Marks :
a/imd'scd;&( TR0, LT CINT FeTPFNTPY ooz ?
SS0%0.
OR

Q. No. 1. a) An agreement without consideration is void. Discuss. Marks : 10
TSFOOQT WTET BT, WBFAD.

Q. No. 1. b) Solve the following problem : Marks : 6

BINT ﬁc&:z WERO :

Nataraj posts his letter of proposal to sell his house to Lingaraj
on 16" March 18. Lingaraj receives this letter of proposal on
18" March 18. On the same day, Lingaraj posts his letter of
acceptance. Thereafter Lingaraj sends a telegram revoking
his acceptance on 19" March 18. Nataraj receives Lingaraj's
acceptance letter on 19" March 18 and telegram on 20"
March 18. Is there a contract between Nataraj and Lingaraj ?

16-3-2018 Zod @czizjéiﬁﬁ m?&s_@pé‘. AonoeT «5@:}33‘5
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Q. No. 1. b) Ganesh goes to a departmental store and picks an article
with price tag. When he goes to the cash counter to pay
the price, the shopkeeper refuses to sell the article. Ganesh
sues the shopkeeper for breach of contract. Can he
do so ? Marks : 6
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Discuss the effects of minor’s agreement. Marks : 10
TR TIoan SRR LATOTT TOTWNTS
OR

Q. No. 2. a) Define fraud. Distinguish it from misrepresentation.

p——1 < P R 3
"?3~JO.'53»~ T,ET,RR0. BTN 3:;{~ QTRTBOLOT WOMBR.

Q. No. 2. b) Solve the following problem.
NI T0%, VAD
Amit promises to obtain for Amar an employment in the

National School. Amar promises to pay Rs. 5 lakhs to Amit.
Is this agreement valid ?

TR0 TOBORY, LTS YVTIRENEN T ¢ISH e
c,:io"“* 2081 5 @* .aﬁ*’*ﬂ“ NOTD BT, RS VR 83
WTOTY mhmf?

OR
A agrees to pay B one lakh rupees, if B will marry A’s

daughter C. C was dead at the time of the agreement.
Decide.
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Q. No. 3. a) Discuss doctrine of frustration with the help of leading
cases. Marks : 10
Qo8 JIoeane FzeNT DFY

OR

What is breach of contract ? Distinguish between
actual breach and anticipatory breach of contract. Marks : 10
jenle® YOPT DT ? WRIB VYT ¢ 522 at’xé;@

iepied)

Solve the following problem :

ZUNT BT, @O

o

A Kala Bhavan was agreed to be let out on a certain day.
Before that day, it was destroyed by fire. Discuss the
consequences.

ANOT OTTOTL WoTD BD LRI WA BREED

S S e e Pamdemd =0 ol s T L) DD
LECTERNTIZE, 8 O SRS &0 230802000 mmr{ga

-—lC — o Jd A=y £
DO WRIFR0.
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OR

Ajit agreed to deliver the goods to Avinash for certain price on

13-11-2018 without fail. Time is essence of the contract. Ajit

fails to deliver the goods on 13-11-2018. Avinash rescinds

the contract and files a suit to recover damages. Decide. Marks : 6
TR eORTAR 13-11-2018 Sotd 2,000 JQFR, U

ROBINML SRR GeflefiOV LT, TP LBOWRTOID

33;5315 De3BeNS. 13-11-2018 Tetd iﬁd&ﬁ@?’g :jaq:i,a’g

g = -
:,L&I“D:Dc& QEFCAWA0.

UNIT = IV

Explain general damages and special damages with the
help of decided cases. Marks : 10

DEFOZ BITLNY ATOITREDN FTRT, Ty DB

OR
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Q. No. 4. a) What is Quasi-contract ? Explain the different types of
Quasi-contracts.

0 - LWOWRE DOTTERI T ING 030 5T - WBOWRENIR
Q. No. 4. b) Write short note on :
uj_;a WO0200 :
Liquidated damages and penalty.
PFOZ P WOTOT T WOR.
OR

Nominal damages.
TRON (=R TOTT 1]

UNIT =V

Q. No. 5. a) Explain what contracts can be specifically enforced.

o3 éoaobﬁ%*sii AOF TN NS FIRAPTLIBOT AOLOTI)
© «KL

g, Ty
2 OA,

OR
Q. No. 5. a) Explain the circumstances in which courts cannot
grant injunction.
IR ROTPF NP, ,0qRVCIN SHEITe 30Ty IRTWLO
R0 ?
Q. No. 5. b) Write short note on :
3063 WOOW0:
Declaratory Decree.
PRRBITT SeRW)F TR,

OR
Recovery of possession of immovable property.

T SO mC)ﬁ’SC&“}ﬁ D00P TWOIORE.
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Marks : 10

Marks : 6

Marks : 6

Marks : 10

Marks : 10

Marks : 6

Marks : 6




